HRARHR PR

FERERAZEE (Hf) osmste
( 2025528 HEtoHEHA )

THoBY S RAEENSEMAEBMNSEEL 7,
[FERIEFEEEM © 21.36 H/m3 [%iA]

HWAMAME 20254 2H
LD

BRUmSE TR 2024498  ~ 20244118

bro7m Y BEMERE 92,540 A/t [#iik]
(b Y7 EHEMIEEFEDOFHIRE 2 BLNG - LPGEIAKE S & U# A M)

EAEFYREHERE (M) 57,250
LNG(FH) LPG(F)

2024498 ~ 20244118 14 92,320 92,040

b By REMEEOEE

(FHER#]
b2 H72 Y LNGIF Mg X 0.9479 + b > H7- Y LPGEME x 0.0546
= 92,320 F/tx0.9479 + 92,040 F/tx0.0546

= 92,540 A/t (1DOMIEMEEAN)

FRMBE ZBEOEE

(FHER#L]
b > 7o ) REMEAS — BT R
= 92540 M/t - 57,250 A/t = 35,290 M/t

= 35,200 A/t (100MKEHTIE)

FRREREHEMmM3H 7 ) AR OEE !

(FHERH#L]
[REHEEZBE + 100 x 0.0891
= 35200 F/t+100x0.0891= 31.36 F/m3 - 10 A/m = 21.36 A/m

SEEBA (0.081x1.1)
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